107 1

a(d cot(B))

a(6 @) (rad)

10 11 [ 7%

1072 i
| g 1072
ook b WELGEAL L ARTREL L AL WG Los

Ratio

el (LG B AL Bl e i

%32 1 0 1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

DQM_TT__originalREDO
DQM_TT__signal_option0
DQM_TT__signal_optionl
DOM_TT__signal_option2

aoa, ) (cm)
o(dd,) (cm)

1071

10
10

10‘7%""!""|i""!"|"!J."_,"!"" 103

Rati

Rati

TR R
0.05L [LR4 1l 4 [k 0.95 i 1’ | i 1Ll L
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

a0 p,/p,)

107Y:

T
——

it
F- - TH - {"[ - + - I ------ B
I

10 {7t

Ratio

. ARHR I S
R R 1 2 3

TP n (PCA- to beamline)




	Contents
	Page 1


